Dear Sir/Ma’am

This is my first submission and would like to simply get a gage of what I can expect when and if I use this service. I am familiar with the Solution library however, I find it a bit overwhelming to locate the specific resolutions at this point, and perhaps this will get better as I become savvier with the tools.
I am experiencing serious issues and difficulty in Math and would like:

1. Detail explanations/step by step ways to get the correct resolution

2.  A simplified method of getting the solution and key factors to know and understand the problem that is being asked.

Provided is a list of problems/equations that I anticipate encountering for the upcoming test, I would greatly appreciate an estimate of cost/credits required to fulfill my request.  
Thanks in advance for your prompt response.  If at all possible, I would like to get an estimate today to allow me to determine if I am going to result to tutoring or if I can manage with the load I am tasked with by the use of your services.

A.L. Harper

[image: image1.png]1. [4] Find the solution sets for the following: |15x—71>12

2. [4] Find the equation of the line satisfying the following:

The line with x-intercept 7 and y-intercept 5.

3. [4] Graph the functions L(x)=~3x+17 and Q(x) = 2x* +7x 22 on the same
set of axes.




[image: image2.png]4. [4] Determine the x-intercepts of g(x) = x* —x—20.

5. [5] Determine the solution to the following system of equations:

2c-y-4:=9

a x-2y+z

3xty+z

6. [4] The base of a ladder sits 15 feet from the edge of a building. If the ladder
reaches 20 feet up the building. how long is the ladder?

7. BONUS [5] Given the formula from physics, v =




[image: image3.png]MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Solve the problem.

1) Anne and Nancy use a metal alloy that is 23.5% copper to make jewelry. How many ounces of a 10% alloy must
be mived with a 28% alloy to form 88 ounces of the desired alloy?

A) 22 ounces
B) 24 ounces
©) 71 ounces
D) 66 ounces
E) None of the above

2) In 1995 the United States recovered 25% of its municipal wastes through recycling, up from 17% in 1990, Let P
represent the percentage recycled and ¢ the number of years since 1990, Find a linear function P(¢) that its this
data. Use this function to predict the percentage recycled in 2003

2)359%
B) 37.6%
[SEEA
D) 342%
E) None of the above

Factor.
3) 152+ 19c 26

A) (15x+ 1)(x+6)

B) (15x + 2)(x +3)

Q) (3x-2)Ex-3)
D) (3x +2)(5x +3)
E) None of the above

D) (x+35)(x-1)
E) Not Factorable

5) 49x2-4
A) (7x+2)(7x-2)
B) (7x +2)2
Q) @+ D(x-9
D) (7x-2)2

E) None of the above




[image: image4.png]6) 8x6+20:3 +6x3+15
A4)®3-3)63-3)
B) (4x0 = 3)(2x + 5)
Q) @ +3)23 +5)
D) (4x3-3)2x3-5)
E) None of the above

Solve.

7) Midtown Antiques collects 4% sales tax on all sales. If total sales including tax are §1058.30, find the portion
that s the tax. Round your answer to the nearest cent.

2)$542.33
B) $30.70

€)$40.70

D) $1017.60

E) None of the above

8) From a point on a river, two boats are driven in opposite directions, one at 10 miles per hour and the other at 14
miles per hour. In how many hours will they be 45 miles apart?

A) 3 hours

B) 4 hours

©) Lhour

D) 2 hours

E) None of the above

9) A speedboat moves at a rate of 11 km/hr in still water. Hovw long will it take someone to ride the boat76 km
downstream if the river's current moves at a rate of§ km/hr?

A) 25k

B)03hr

Q) 4hr

D) 1444 hr

E) None of the above

10) Pet-Me-Some-More Pet Supplies determines it will sell S(x) = 6000 - 600x + 120x2 - 6x3 gourmet dog biscuits
in one week if it sells them for x cents each. Find an equivalent expression for the trinomial5(x) - 6000 by
factoring,

A) -6x(x - 10)2

B) -6x(x - 10)(x + 10)
Q) 6xix- 102

D) -6x(x + 102

E) None of the above



[image: image5.png]Solve the absolute value inequality. Write the solution set using interval notation.
11) [b-8]-7>8

A) (-=,-9) u (7, =)
B) (-, -7) u (9, =)
Q) (7,23)

D) (e, 7) u (23, )
E) None of the above

Solve the equation.
12) |4m+2|-4
A{L-3

1

RIS

- 3
Dz
E) None of the above

13) 2072+ 27+

9-0
1
3

E) None of the above

Multiply.

14) Gy -4)(0y2 + 12y + 16)

A)27y3 + 48y2 - 64
B) 27y3 - 64

E) None of the above

15)

+2y)(x - 5y)

4)x2 - 6xy - 10y2
B)x2 - 3y - 352

Q) x -3¢y - 10y

D) x2 - 3xy - 10y

E) None of the above



[image: image6.png]Solve
16) 8x -7y =48
6x+4y =36

A)(-6,0) B) (0,-6) Q7,1 D) (-6,1) E) No solution

17) 2y +2)=3(y - 6)
A
B) 14
Q-1
D)-22
E) None of the above

18) 78-9x-3
A)76
B) 72
Q9
D) 11
E) None of the above

1
19)
1

D) 16
E) None of the above

20) Best Rentals charges a daily fee plus a mileage fee for renting its cars. Bamey was charged $108 for 3 days and
300 miles, while Mary was charged $191 or 5 days and 600 miles. What does Best Rental charge per day and
per mile?

A) $24 per day and 12¢ per mile
B) $11 per day and 252 per mile
C) $25 per day and 11 per mile
D) $26 per day and 12¢ per mile
E) None of the above

21) 2x+7(2x-6) = -24 - 6x

1
A-5
B)-1
-1
D)1

E) None of the above



[image: image7.png]Find the domain.
22) £(x) = -9 + 2!
A) & the set of all real numbers
B) (x| x is a real number and x = 0.22222222
C) {x| xis a real number and x = -2}
D) {x| xis a real number and x = 4.5
E) None of the above

23) The amount of simple interest I generated by principal P, annual interest rate 1, and time ¢in years is given by
T Prt. Find the interest it t =6 years, P = $170, and r ~0.04.
4) 50.60

B) $40.80
Q) $277.44
D) $2.77

E) None of the above

Find an equation of the line containing the given pair of points. Write your final answer as a linear function in
slope-intercept form.

24) (1,-3)and (-4,0)

E) None of the above




[image: image8.png]Graph the function.

25) (x) = x2 =2





